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QUESTION 1

Refer to the exhibit. 

On which node will the websg service group start if all nodes are powered on and come online at the same time? 

A. s4 

B. s2 

C. s1 

D. s3 

Correct Answer: B 

 

QUESTION 2

Which command should an administrator use to verify the values of AutoStartList attributes for service group SG1? 

A. hagrp -list SG1 AutoStartList 

B. hagrp -display SG1 -attribute AutoStartList 

C. hagrp -display SG1 -value AutoStartList 

D. hagrp -value SG1 -localclus 

Correct Answer: B 
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QUESTION 3

Which two resource attributes must the administrator set correctly to prevent a fault for the service group when a new
resource is added? (Choose two.) 

A. AutoDisabled 

B. Critical 

C. Enabled 

D. Frozen 

E. MonitorOnly 

Correct Answer: BC 

 

QUESTION 4

An administrator wants to make a single-instance Oracle database highly available and take advantage of Veritas
Cluster File System. 

Which solution(s) should the administrator deploy? 

A. InfoScale Enterprise 

B. InfoScale Availability 

C. InfoScale Storage 

D. InfoScale Foundation and InfoScale Availability 

Correct Answer: C 

 

QUESTION 5

Which action should an administrator take to avoid single points of failure when making an application highly available? 

A. utilize cross-over network cables for heartbeats with multi-node clusters to withstand power outages 

B. place application binaries on shared storage to reduce the chance of corruption 

C. use host IP address for configuring and accessing application from various clients 

D. ensure multiple paths for data access so the applicantion can continue if one path goes down 

Correct Answer: D 
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